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1.

In travellng a distance of 3 km between points 4 and /, a car 1s driven
at 100 km/h from 4 to B for ¢ seconds and 60 km/h from C to D also for
t seconds. If the brakes are applied for 4 seconds between B and C to
give the car a uniform deceleration, calculate ¢ and the distance s
between 4 and B

100 km/h 60 km/h

. The car passes through a dip in the road at 4 with a constant speed which

gives 1ts mass center & an acceleration equal to 0.5g. If the radius of
curvature of the road at 4 1s 100 m, and 1f the distance from the road
to the mass center ¢ of the car is 0.6 m, determine the speed v of the
car.

G

0.6 m

. The coefficient of static friction between the flat bed of the truck and

the crate 1t carries 1s 0.30. Determine the minimum stopping distance
s which the truck can have from a speed of 70 km/h with constant
deceleration 1f the crate is not to slip forward.

<—3 m‘>|




B2 450 65 4 % 08 % i RATL Fiqz 2 4 RN

SR B R g 9T B ()& E

Pl t B 0 E AN £2FH2F

4. If the 80 kg ski-jumper attains a speed of 25 m/s as he approaches the
takeoff position, calculate the magnitude /¥ of the normal force exerted
by the snow on his skis just before he reaches A.

b. The car of mass m accelerates on a level road under the action of the
driving force F from a speed v to a higher speed v» in a distance s. If

the engine develops a constant power output P, determine vz Treat the

car as a particle under the action of the single horizontal fore Z




